Maths Yr 5
Go to the following web page and watch lesson 1
https://whiterosemaths.com/homelearning/year-4/

Now go to the following web page 
https://www.bbc.co.uk/bitesize/articles/zxfv6g8
Try the following activities:
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Find the answers below
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Now Try some of the following.
1)
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Answers
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@ Bianca has £478.36
in her bank account
and £65:85 in cash at
home. How much does
she have altogether?

@ The price of a necklace
B E416:59. ILis
reduced by £127.90.
‘What s the new price?

@ Exchweek Dorcy aarms
£694:25 from his ull
time job and £176-68
from a part time job.
How much does he
eam altogether?
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(® Each book costs £3.90.
Ayesha buys three
books. How much does
she pay?

One stamp costs £0-49.
‘What do eight stamps
cost?
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(® Lenny earns £8:45 each

hour. How much does
he earm if he works six
hours?

Each tray of plants
costs £5:27. What do
four trays cost?
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@ Hetty earns £3659 per

month. How much
does she eam in nine.
months?

What s the total cost of
eight train tickets, each
costing £28.957
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13 £9-17
14 £8-45

13 £11.70
14 £3.92
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13 £75-75
14 £32-83

13 £50-70
14 £21-08
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13 £54421
14 £288-69
15 £870-93

15 £32931
16 £231-60
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Practice activities

1. How much money is in each purse?

cos) B3 &S

2. Answer these.
a) A pencl costs 50p and you use four coins to pay for it. Which coins could
you use?

b) A ball costs 80p and you have a 20p coin in your hand. You use two more.
coins to make the total. Which coins did you use?

QA balloon costs 75p and you have a 10p coin in your hand. You use five
more coins to make the total. Which coins did you use?

3. Make up the following amounts with the fewest number of coins
a) 85p

b 124p

9 9%
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Answers

1.
2.

a)
a)

b)
Q9

a)
b)
Q9
20p
a)
Q
a)
Q
)

9%7p b) 79 o 7ip

Two 20p and two 5p coins or one 20p and three
10p coins.

One 10p and one 50p coins

One 50p, one 10p, two 2p and one 1p coins or two
20p, two 10p and one 5p coins

50p, 20p, 10p, 5p coins

£1, 20p, 2p, 2p coins

50p, 20p, 20p, 5p, 2p, 2p coins

£4 b) £3
£2 d) £6
£12 b) £36
£45 d) €18
8
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(@ Roy spends £6:8;
thebutchers and £2:35

in the grocers. How.
‘much has he spent
altogether?

@ Connie buysa present
and a cardfor £9.74
altogether. The card
costs £1:29, How much
does the present cost?
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@ Ablue jacket costs
£58:39. A green jacket
costs £17:36 more
than the blue.

How much does the
green jacket cost?

@ Richie has £61.75.
He spends £26.2.
How much does he
have fent?




